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No. 1 contains two parts. Part (A) has Multiple choice
and Part (B) has Fill in the blanks. Each question carries

LGl

Instruction : Question
questions
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(w—a)aﬁﬁmwﬁm:

(Part-A) Choose and write the correct answer .
(@) 'qﬁgﬂ'aﬁﬁﬁm'&ﬂﬁm ot ?

(&1) oo

(&) A

(&) e

(3) wRd

Which' country owned the policy of Open Door?

1x5=5

(a) Britain
(b) Japan
(c) America

(d) India
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Mz Tk W fra $f ¥ fay e qooew frem mo

(37) wRAmE (=) atefe
(V) rFgws (B) AH-To-HA
Rabindranath Tagore got Nobel prize for ;

() Vandemataram (b) Gitanjali

(c) Ananda Math (d) Jana-Gana-Mana
AN & v sfufran wa o e mae?

(31) &1 2004 (&) €9 2005

(") 97 2006 (]) w1 2007

When was Right to Information Act introduced?

(a) Year 2004 (b) Year 2005

(c) Year 2006 (d) Year 2007

6% IR AT T ST Ba

(37) 28 =19, 1980 §# CGboardonline.com
() 28 a¥w, 1978 §

(®). 28 37w, 1988'H

(%) 28 atfer, 1989 H

Nehru Rojgar Yojna was started in :

(a) 28 April, 1980

(b) 28 April, 1978

(c) 28 April, 1988

(d) 28 April, 1989

2001ﬁﬁwm%ajwmﬁf—vhﬁqﬁm;
(87) 983 (9) 933

(d) 953 CGboardonline.com (8) 923

In Census 2001, sex ratio of India was -
(a) 983 (b) 933
(c) 953 : (d)y 923
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(Tv-w) fem =m o) 9ff WY :  cGboardonline.com 1%5=5
(Part-B) Fill in the blanks :
1
The highest post of United Nations Organisation Secretariat ig
called
(i) asﬁs&fqamﬁ%maﬁﬂmﬁﬁmaﬂml_@
2l =t ¥,
Legal ages of girls and boys for marriage are and
year. ‘
(iij) vRdE dd-=maen —— ¥1  CGboardonline.com
The Indian economy is
(iv) m%mﬁanﬁ!%q@aﬁ——._W%l
The rapid growth of population is called |
) @ﬁ SERAR FE w ¥
s called fundamental industry.
fgsr : U WHE 2 W 9 TF FESHE TH ¥ TS WH W 2 3E

aefeq 1 (IW H s F==t-91 30 v=1)
Instruction : Question Nos, 2 to 9 are very short answer type questions, Each
question carries 2 marks. (Maximum limit of answer is 30 words)
-2 SO S §9d & 9 fafaw)
Write the formula of consumer’s surplus,
wWA-3 9o fovd g w1 acnfers RO S 9
What was the immediate reason of First World War?

w-4 ‘A’ o U A faf@tl  cGboardonline.com
Write the full form of UNESCO.

W5 onfe i g wifte ve wRl W €2

Vatlatlat!
Where are Maths established by Adi Shankaracharya?
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e TR & W D www faf@ql cGboardonline.com 1+1=2
o Write any two causes of Naxalism.
(W7 AR TSR ¥ st o e o 0 ofs O §2 2
How does the labour of division increase the activity of labours?
-8 iR ¥ wyw val & 9w fafaw) 2

Write the names of main festivals of Chhattisgarh,

WgI-9 TUAM AHEW % ey U ToE F NHiT % W fafa 1+1=2
Write the names of presént'Speakcr of the House of People and

Pre_sident of Council of State.
CGboardonline.com

dwr : ¥ S 10 | 15 e eSS T € | TEE U W 3 ot
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Instruction : Question Nos. 10 to 15 are very short answer type questiong.
Each question carries 3 marks. (Maximum limit of answer is

50 words)

WA-10  R-Fre o1kem ¥ M wym sivy fafEw)

Write three main aims of Non-Aligned Movement.

WT-11 BT &l Yfdewer &1 auiq ity
Describe the art of statue in Chhattisgarh.

WA-12 T8 §H ¥ - W Qe 9 e ?
Write the qualifications required for the member of Rajya Sabha.

WA-13 9 faueA | 99N @) o w6 6t 7 CGboardonline.com
What is the loss to society by division of labour?

WA-14  9d H 7 X H F F W 9 sru fafan)

Write any three causes for the reduction of death rate in India.

W15 S H S T g e frin § fa yew wem )

How does consumer’s surplus help in price fixation by monopolist?
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Instruction : Question Nos. 16 to 21 are short answer lype questions. Each
question has internal option. Each question carries 4 marks.

(Maximum limit of answer is 75 words)

WH-16 AR ¥ Sw w42 A W @ A fafe 341-4
What were the aims of Nazism? Write the full form of Nazi,

. arerar/ OR
it 3 AR ® Te g ooy

What were the main similarities in Fascism and Nazism?

UH-17 W v S A 3 e w e 4

Why is atomic power considered as danger 0 humanity?

aregar/ OR
R awE 39 § Terifie ISR % g TR HRO ARl |
Write any. four causes of rise of political awakening in Asian and

African countrnies. = CGboardonline.com

uvr-18 V=i Afhenl @t feufs W guR srewEs €)' @i ? 4
“The improvement is necessary in the condition of child labours.”
 Why?
arerEr/ OR

gt e &1 gafa e A fRE ER e W fafew)
Write about any four elements which affect the social awareness.
T gfs @ Y T AN € 7 e 9fe Y I B A S faRETl 143-

What do you mean by Price Rise? Write any three suggestions to
CGboardonline.com '

3ear/ OR

e ¥ ST T GEE € 2 TR & el i ey
What do you mean by poverty? Explain the types of poverty.

T 1-19

control price rise.
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1+1+1+1=4

What is soil erosion? Write its three causes.
arerEr/ OR
' WRdT FfY ) w6 9] g fmfEe)

Write any four characteristics of Indian Agriculture.

yra H woiem @ e fafag)

Write the distribution of textile industry in India.
3rerar/ OR CGboardonline.com

Ffy SMIRA TE ok Wi enuifa S W gern Aol
Write differences between Agricultural Industries and Mineral Industries.

mmzéﬁzsﬁﬁéﬁﬁﬂm%lﬂﬁﬁﬂﬁm

er :
ey ¥ TR® W W 5 3iF swien 1 (IW N AHEA
Y-HHET 100 %)
Instruction : Question Nos. 22 to 25 are long answer type questions. Bach
question has internal option. Each question carries 5 marks.
(Maximum limit of answer is 100 words)
UyT-22 HHNEAR % UE THRRTE WWE 9 S
Describe five negative effects of imperialism.
arrar/ OR
IqfRvER T T9-3ufeveR § 3R fafEw)
Distinguish between Colonialism and Neo-Colonialism.
W-23  Sgia Afmved W A fee WR e e 3 ? wE it

How is Central Cabinet controlled by House of People? Explain.
CGboardonline.com

erear/ OR

FIHEY 1 i wE 3R uferEl w1 I S |
Describe the functions and powers of the Speaker of Lok Sabha.
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WA-24 TR B W oew fafagy CGboardonline.com 3
Write the importance of Mumbai High.
Srgar/ OR
G qOAl & s W T 2

What are the financial imfmnames of mineral resources?

WF-25 W F WA Frefafgg 9 JERE g 1+1+1+1+1=5

Show the following in the map of India :
(a) fecoh-icErma temm

Delhi-Kolkata Railway
(b) & @

Tropic of Cancer

(c) w@Em A =Y CGboardonline.com
Bhakra Nangal Dam

@ T W
Bay of Khambhat

& T T
Mumbai High

arear/ OR
unE % wEreEs o Fretafes w weRE Sk
Show the following in the map of India -
(a) femeli-= @A
Delhi-Chennai Railway
(b) HS T ret
Bay of Kachh
(c) & 7 |
~ Narmada River
- (d). SiheREt
Ankleshwar
(e) S ?;{f CGboardonline.com
Karakoram Pass
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R+ T W 26 v 27 ddvuia v 41 v @ A S
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¢ Question Nos. 26 and 27 are ldng-answer type questions. Each
question has internal option. Each question carries 6 marks.
(Maximum limit of answer is 150 words)

WT-26  urd F fREY v F a7 o wm &2 fet & W a i  1+5=6

How many types of forests are found in India? Explain any two.

Instruction

CGboardonline.com argqr/ OR

"$fY wRa Ft owem ik srdforER W AR %1 SR
“Agriculture is soul of India and it is base of Indian economy.” Explain.,

W-27 fgdim fawa 45 & ©: SR | g Sifag)
Throw light on the six causes of the Second World War.

arerar/ OR  CGboardonline.com

fidta faws g & SR 9 We@ F B w0 SR

Give six reasons for defeat of Germany in the Second World War,



